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D32 1469 kg —
D29 — ka -
D25 598 kg (120)
D22 3235 kg —
D19 1157 kg —
D16 3703 kg (144)
D13 213 kg
10375 kg (264)
)
D22 \15@ kg 20
D16 196}< 24
D13 98 kg -
460 kg 44
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Om L 1m Im L 2m 2n L 3m 3m L 4m
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D16 - 53 S 91
D13 - - - -
- 173 S 91

P 1 D22 3000 13 3.04 9.12 119 |
P 2 ” 2000 4 Z 6.08 24 |
P s Z 520 4 Z 1.58 6 |
P 4 " 3500 22 " 10.64 234 |
P s ” 3000 13 Z 9.12 119 |
P 6 Z 1750 4 Z 5.32 21 |
P 1 " 520 " 1.58 6 |
P s D32 3100 42 6.23 19.31 811 |
P o D16 9300 5 1.56 14.51 73 -
P 10 / 3930 2 " 6.13 12 -
P11 ” 3950 2 ” 6.16 12 -
P 1 v 4180 5 " 6.52 33 -
P 13 / 1400 2 " 2.18 4 -
P 14 ” 1430 2 ” 2.23 4 -
P 15 D19 3120 26 2.25 7.02 183 -
P 16 D16 9310 1.56 14.52 44 |7
P 17 v 2530 4 ” 3.95 16 -
P 1 ” 1930 13 " 3.01 39 )
P 10 ” 1810 4 ” 2.82 11 ~J
P 20 ” 2380 24 " 3.71 89 )
P o D13 9310 3 0.995 9.26 28 |7
P 2 / 2530 4 " 2.52 10 -
P 23 ” 740 24 " 0.74 18 r—
P 2 D16 3240 12 1.56 5.05 61 —
J 1 /" 600 26 /" 0.94 24 L
J 2 ” 450 13 4 0.70 9 —
2010
G 1 D32 4800 22 6.23 29.90 658 |
G 2 D19 3330 40 2.25 7.49 300 r
G 3 D25 1250 120 3.98 4.98 598 — @120
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K 1 D22 1950 8 3.04 5.93 47 |
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K 4 /" 820 2 / 1.28 3 L
88
D32 1469 kg
D25 508 (120)
D22 576
D19 483
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D13 56
3654
A 1 D16 5000 37 1.56 7.80 289 ]
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A 4 Z 9860 13 Z 15.38 200 —
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H s ” 6440 2 " 10.05 20 ]
D22 593 kg
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F 3 D13 9300 12 1.56 9.25 111 -
F 4 D16 9300 23 1.56 14.51 334 -
F s D19 9300 7 2.25 20.93 147 -
F s 4 9300 7 4 20.93 147 -
F 7 i 5720 14 ” 12.87 180 —
F s D16 1790 18 1.56 2.79 50 |: (18)
F o 4 1790 35 // 2.79 98 [ (3%5)
F 10 D13 1930 6 0.995 1.92 12 ]
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D22 960 kg
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W s % 2410 1 ” 7.33 7 | —
W 32 Y 2230 u 6.78 7 |-
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1107
D22 553 kg x 2= 1106 kg
D19 100 x 2= 200
D16 208 x 2= 416
D13 17 x 2= 34
878 x 2= 1756
D22 \SJ\KQ x 2= M 10% 2
D16 98 >< 196 12x 2
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230 x 2= 460 27%
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